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SECTION-A                  (10 X 2 = 20 Marks)
Answer all the Questions:

01. What do you understand by measures of central of central tendency?

02. Define the terms  ‘range ’ and ‘SD’ with an example.

03. Calculate CV from the following data:17, 25,50,12,10,5,25.

04. What is the chance that a leap  year selected at random will contain 53 Sundays?     
05. What do you understand by the term Continuous random variable? Give an example.                            

06. Explain  any two applications of  Normal distribution ,with suitable illustration.

07. Define the following terms with examples.

a) Sample Space.   b)  Dependent Events 

08. Briefly explain the terms a) Null Hypothesis and b) Alternative hypothesis ?

09. A random sample of 400 workers from Lorson & Co was drawn for estimating the average salary. The sample mean was $800 and the SD was $100. Find the 95% confidence interval.

010. What is meant by cost of living index numbers?

SECTION-B                      (5 X 8 = 40 Marks)

Answer any five Questions:

011.  Calculate CV  from the following data:

     Age:

 0 –20  20 – 40  40 – 60  60 – 80  80 –100

     No of workers:         3
 17
 27
 20
 9

012.  If the two regression lines are x +2y = 5 and 2x+3y = 8.
          Calculate the followings:
a. Means 
b. Regression coefficients
c. Correlation coefficients.
013. In a sample of 1000cases, the mean of certain test is 14 and the SD is 2.5.Assuming the distribution to be normal.

a. How many  students score between 12 and 15?

b. How many will score Above 18 and below 18?

14. The price of a particular product in two different countries  (in $) are given below

USA       :40
 80
70
 48
52
 72
68 
56
  64
  60


             UK        :52
75
55
60
63
69
72
51
 57
  66

 Calculate the coefficient of correlation between the above two countries.

15. If the probability of the defective bulb is 0.4. Find the mean and the SD for the   

     distribution of the defective bulbs in a lot of 1000 bulbs. What is the expected number 

     of defective bulbs in the lot?

16. A manufacturer of bullets knows that 2% of his products are defective. If he sells the   

     bullets in boxes of 100  and guarantees not more than 4 defectives, What is the 

     probability that a box will fail to meet the  guaranteed quality?    ( e –2 = 0.13534)

17. Explain TRT and FRT and prove that Fisher’s Index Satisfies both TRT and FRT.

18. Explain briefly the components of Time –Series with suitable illustrations.

SECTION-C                 (2 X 20= 40 Marks)

Answer any Two Questions:

 19a. Calculate Bowley’s coefficient of skewness from the following data.

               Daily Expenses   :  40   50   60   70   80   90

               No of Employees: 185  167  132  82  38  12

 19b. Fit the curve of the form  y = a b x for the following data

              Year    :       1990  1991  1992  1993  1994  1995  1996

              Output:         672  824    968    1205  1464  1758  2058

              Describe the Chi-Square test of significance and state the various  applications of  this test

 20a. Two types of batteries are tested for their  length of life and the following 

         results are    obtained.





No .of  sample(n)    Mean                   SD


Battery A 
10
500 hours
100 hours


Battery B
10
560 hours
121 hours

         Is there a significant difference in the two types of batteries with regard to length of life?

 20b) Distinguish between Small sample and Large sample tests.

 21)  Calculate the seasonal indices by the Ratio - To - Trend method, from the following data:

                                    

Year

Quarters
2000
2001
2002
2003


   Q1

 75
 86
 90
 100


   Q2

 60
 65
 72 
 78


   Q3

 54
 63
 66
 72


   Q4

 59
 80
 85
 93 

 22) The following data represent the sales of personal computers by 3 salesmen from TCS                 

                            A  :   20  30  56  25  49   

        Salesmen     B  :   25  38  50  69  12   39

                            C  :   12  34  45  23

    Analyse the above data and comment upon the result
X----END----X
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